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(THMETS)
SFn54E 2A20H (HHER) HE ik F & K X & #
B4 s | amk| ww | oew | e | me | 2F e B4 s | Aww| mE | ew | wm | w3 | 20| ER
EIFF | 13.0 648 ~ 216 | 10 k| 1ok B’_E PN =1 0.1 378 ~ 324 |o1 K BRE
KR
- E | 2.0 | 1,404 | 1,296 | 864 |10 k| mh | ®&
ER S LR =iF | 04 | 2,160 ~ 1,404 | 20 £ &®h | B&
AFyTZAES | B | 01 | 1,620 A 1,296 | 1 k| @wh | BEE
LEXAED BRE| 01 | 2,700 ~ ~ Tkl oA rLX
swis & | 03 | 1,350 | 1,026 | 540 | 4 k| #h | BRE H# B | 0.3 648 ~ 324 |5 « BL
st 2
B | 15.0 | 972 648 540 |15 k| &h | Be BREE| 1.0 | 2,592 ~ 1,296 | 10 k| &h | B&
=k 2
A=A
B | 150 | 864 | 648 | 432 |10 k| @h | RaE Je¥EE | 1.0 | 1,944 | ~ 1,512 | 10 «| ®h | BRE
Fp Y
e |3 | =i | 06 | 2,268 ~ 1,620 [ 10 Rre
5 ~ ~ i & N2 : ~ &
Py R | 02 1,080 10 k| ®h | & L~z | B8 | 04 | 1,620 1,350 | 5 & =
B [ 04 | 1,728 ~ 1,404 | 4 k| 20% | BRS
R EAER =i | 0.9 864 s 540 4k wE
i ERF | 02 | 972 | 756 | 540 |3 k| @wh | BRa | ER Je#EE | 100 | 2,700 | ~ [ 2,160 |20 k| & | BRE
S B | 04 | 1,620 ~ 1,296 | 3 k| w0x | BRS
» - = | 0.1 ~ 108 ~ 1ok
- =iEF | 0.3 | 4,860 ~ 2,700 | 5 | #h | BRE
- - =y 1.0 194 ~ 86 01 k
; ZiRE | 0.7 | 1,404 ~ 1,188 | 12 E| #h
Taya)—
=15 ] ~ ~ i
p— =i | 3.0 36 01 k
INY R 51.8 | 2,160 = 1,080 E1 P~ # =i | 0.1 | 2,700 ~z ~ 3 k| #wh | FLX
S T | B 5 k
FH 2,268 it 1,944 BL RyF—= B | 0.9 | 1,296 | 1,080 | 324 | 2 k| F@h |FbFb
RAREE HIRF ~ 2,160 ~ 0% | BRE
P =i | 2.0 | 2,160 | 1,944 [ 1,620 | 5 k| &h | RE
3clzs B IR 1,512 . 1,296 20K | BRE
=i | 3.8 | 1,188 ~ 648 | 4 & RE
F=h e BT 1,296 ~ 756 10X | B’e
IR =1 ~ 1,404 ~ 0% | BRE
- HiF | 7.0 130 86 76 |02 k| mh | BE
I=p~=h
YA 9.6 | 9,936 ~ 7,660 | 10 k 3
B/ =y
H#K 10 k
RE——s EH | 02 | 8,640 | ~ |3,240 10 « BL F D1l s
FHIRIR =i | 1.8 | 6,480 ~ 5,400 | 10 k L B3 37.0 t WMAE | 180.8 t
RYIRMR =i | 01 | 1,080 ~ 540 | 1 «k RE




